ECRAABAZ 1M SEEALE -~ RERBEREED £ 4B &

R BEIEZEARERTEIRF LS 47 BEARE B 1822
2E Ore—AFE 2l 2REE > FREMAN 1100548 - XML 28 F 1 E

1. The tower is held in place by three cables. If the force of each cable acting on the tower is
shown in Figure 1,take x=20m and y=20m and
(a) find the unit vectors of the three cables.(5%)
(b) express the force vectors of the three cables.(5%)
(c) determine the resultant force by Cartesian vector notation. (10%)

Figure 1 Figure 2
2. If the mass of cylinder C is 40 kg, determine the mass of cylinder A in order to hold the
assembly in the position shown in Figure 2. (20%) '
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